
SR. NO. QUESTIONS A B C D CORRECT ANSWER

1 Only ______ goodwill is accounted. liquidation Sales Purchased Non Purchased Purchased

2
The company earns a net profit of Rs. 24,000 with a 

capital of Rs. 1,20,000. The NRR is 10%. Under 

capitalization of super profit, goodwill will be 

1,20,000 70,000 12,000 24,000 1,20,000

3 Synergy may arise from _____. Creativity Socialising Business Drawing Creativity

4
A company approaching another company for 

negotiation and purchase is a _____ takeover.
Friendly Enemy Family Liquidation Friendly

5 Takeover may be ______________. Sale Bailout Profit Bailout Hostile Bailout Vertical bailout Profit Bailout

6 Corporate restructuring is a process of _________ . Consolidation Liquidated Running Profit Consolidation

7
Corporate Restructuring is needed to improve 

_________ .
ROI RBI ROR ROCE ROI

8 In Internal Reconstruction _____.
Only one company is 

liquidated

One or more companies are 

liquidated
Two or more companies are liquidated

No company is 

liquidated
No company is liquidated

9 Capital Reduction requires _____. Court order Order of the Registrar Order of the SEBI
Order of stock 

exchange
Court order

10
In re-organisation, shares surrendered are transferred 

to ______ A/c.
Shares surrendered Shares purchased Shares transferred Suspense Shares surrendered

VIVEK COLLEGE OF COMMERCE

TYBAF SEM VI 2019-2020

SUBJECT: FINANCIAL MANAGEMENT III

MCQ - SAMPLE QUESTIONS


